Vaxal 1 4 I=I: AN Vaxal

F=4 70 IREEGREERSE XE
[(#a&t6E #w=FEDERE HE&E EBIA  FO8k)

EFE AL

B[l & = (8 :00)

(1)K & B B mARREBHSE Bl 0K %

(2) EfE. BiE. HEE 815

(3) HIAMEEFIZEEH

(4) 12 5 1E R &

Ry TEREEZEDER

EEHEBE %2 35H

(5) FEEHLED WAREEBHESE &l X
(6) XREBENH AR E f=H E—
mAEES R (% B &
(7)) BHEDIFE EBER MARREHRESR) =H ER
(8) & F B ¥ WA ERAE
1B FEI3NE HEEEFE KK £
EFMIRIE
/ﬁwﬂ*/l-li q:i (8: 50~11:40)
OR THEX
EFH AL
& &2 ™® (12:10)
(1) B, BiERRK BER AREHRESR) FH EBR
(2) F& -
Bl & =H
(1) A & = 18 IARREHS BB £ O RIE
(2) EiE. BiE. WEHE EN
()M £ E B MAREERHE BlE RKEAER B
fi# A (12 :50)



